ARDA V2 KUGU EVYE BATARYASI - 15194031

GR. BATARYA NIPELI((g

13010381

(

=0

2

@

=l

R

Yo% % e% %%

2055

T
X
Sasototes
2%%% %%

OSOTe
’o’:’oo X

dooes

e
52

<X

%

e
&
00K

e
X

X
Se%e%%

2

o
o

%o

oY
X
RS
22
o
o9

<>
&

2>

<27
2
KX

%
%%
SRR

=
3
%5
X
TR
Boeesoses
Petetets

e
5
o

0

..
5
et
s
0.0

S
S

e
2
XX
o

R
s
b

2

<

3

o}
X
XS
%

..
5
0’0

2%
%%

%S
%%

X

%S
9

9

3%

.
X
XX
RS
5%
o0
R

2>
%

2
¢
%

%
XX
%

e
£
ote
e
R
(XXX
e e

3
&
RS
X

RIXXXLS
Sototetstetes
0%56%%%%

=
et

S
98
S
e%!

GR. ALT BAGLANTI

13010240

GR. BATARYA BORUSU
—— 13190021

Pafutor/\
M24x1
n
N S
) S
; Sy
‘3’4 o
ME
§ H
b4
3/8"
16 | 2 | Flex (42,5cm) 13080180 M10x1-3/8"
15| 1 | Somun 12010550 M8x15 CuZn39Pb3
14| 1 | Saplama 12010540 M8x60 CuZn39Pb3
13| 1 | Tespit Plakasi 12010520 M8 AISI-304
12| 7 [ Tespit Plaka Contasi 12010530 M8
77| 7 | Taban Conta 12010710 032,99x82,62
10 7 | O—Ring 12010580 #17,13x82,624 NBR
9 | 17 |Batarya Nipeli 12010401
8 1 | Boru (Evye) 13190021 CuzZn37
7 7 | Bice 12010871 26,7
6 | 1 | Setuskur 12010490 M5x8 AISI—-304
5 7 | Kartus Rozeti 12010381 M37x1,25 | CuZn40Pb2
4 7 | Baski Somunu 12010150 M37x1,25 | CuZn40Pb2
3 7 | Kumanda Kolu 12190031 Zamak
2 7 | Kartus 12010110 235
1 7 | Govde 12010031
Sira |Adet| Parca/Grup Adi Kod No Olgu Malzeme




